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Quiz Date: 23rd March 2020 

Directions (1-5): Study the information carefully and answer the questions given 
below.  
Thirteen people live in a building consisting of nine floors. Not more than three people live 
on any of the floor. The ground floor is numbered one and so on till the topmost floor 
numbered nine. The top and the ground floor is not vacant. H lives above D and lives with 
at least one person on the same floor. C lives below G but not below to H. F and J live just 
above the odd vacant floor. Six floors are between the floors on which E and B live. No one 
lives with E. Four persons live between G and D. A lives with only M and on one of the odd 
numbered floor above B. Three persons live between J and B. K and L live on the same even 
numbered floor. C lives above J. E lives above B. Only one floor is vacant between the floors 
on which M and F live. I lives just above the even vacant floor, which is above the odd 
vacant floor. 
  
Q1. Which among the following floor represent on which maximum number of persons 
live? 
(a) 3rd   
(b) 2nd   
(c) 8th   
(d) 6th  
(e) none of these 
 
Q2. How many floors in between D and I’s floor?  
(a) Two 
(b) One 
(c) Three 
(d) Four 
(e) None of these 
 
Q3. On which of the following floor does C live? 
(a) 3rd  
(b) 2nd  
(c) 8th  
(d) 6th  
(e) none of these 
 
Q4. Who among the following lives with B? 
(a) E 
(b) F 
(c) C 
(d) B 
(e) none  
 
Q5. Four of the following belongs to a group find the one that does not belong to that 
group? 
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(a) E, A 
(b) F, J 
(c) C, H 
(d) K, L 
(e)  A, M 
 
Q6. Which of the following symbols should replace the question mark (?) in the given 
expression in order to make the expressions P > B as well as T ≤ C definitely true? 
P > C ? B ≥ N = T 
(a) ≤ 
(b) > 
(c) < 
(d) ≥ 
(e) Either ≤ or < 
 
Q7. Which of the following should be placed in the blank spaces respectively (in the same 
order from left to right) in order to complete the given expression in such a manner that 
makes the expression B > N as well as E ≤ L definitely true? 
B _ L _ O _ N _ E  
(a) =, =, ≥, ≥ 
(b) >, ≥, =, > 
(c) >, <, =, ≤ 
(d) >, =, =, ≥ 
(e) >, =, ≥, > 

 
 

Directions (8-10): Study the following information carefully and answer the given 
questions. 
There are nine members in a family- A, B, C, D, E, F, G, H and I. Among them only three 
married couples and only four males and three generations in this family. C is married to A. 
B is the only child of D. A is father of E’s mother and G. F is married and she has a mother-
in-law. D is paternal grandmother of E. I is the granddaughter of H who is the parent of the 
brother-in-law of G. 
 
Q8. How is I related to F’s sister? 
(a) Nephew 
(b) Son-in-law 
(c) Mother 
(d) Niece  
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(e) None of these 
 
Q9. How is D related to G’s sister? 
(a) Father-in-law 
(b) Son-in-law 
(c) Mother-in-law 
(d) Daughter 
(e) None of these 
 
Q10. Who among the following son-in-law of C? 
(a) B 
(b) D 
(c) F 
(d) I 
(e) None of these 
 
Directions (11-13): In each question below is given a statement followed by three 
assumptions numbered I, II and III. You have to consider the statement and the 
following assumptions, decide which of the assumption is followed and choose your 
answer accordingly. 
 
Q11. Statement: Use ‘X’ brand shoes. These are durable and available in all sizes-An 
advertisement in the newspaper A. 
Assumptions: 
I. Normally people like durable shoes. 
II. Very few people read advertisement in a newspaper. 
III. Very few people read the newspaper A. 
(a) None is implicit 
(b) Only I and II are implicit 
(c) Only I, and either II or III are implicit 
(d) All are implicit 
(e) None of the above 
 
Q12. Statement: These apples are too cheap to be good. 
Assumptions: 
I. When the apple crop is abundant, the prices go down. 
II. The lower the selling price, the inferior is the quality of the commodity. 
III. Very cheap apples are also good. 
(a) None is implicit 
(b) Only I and III are implicit 
(c) Only II is implicit 
(d) Only II and III are implicit 
(e) All are implicit  
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Q13. Statement: The employees’ association has appealed to the Managers of Company Z 
to introduce written examinations for clerical cadre recruitment to prevent selection of 
incompetent persons. 
Assumptions: 
I. So far the Company Z used to select candidates without conducting a written 
examination. 
II. A written examination can help to identify competent persons. 
III. At higher level, written examination may not be of much use. 
(a) Only I and II are implicit 
(b) Only II and III are implicit 
(c) Only I and III are implicit 
(d) Only III is implicit 
(e) None of the above 
 
Directions (14-15): Study the information and answer the given questions: 
There are eight boxes viz. A, B, C, D, E, F, G and H. All the box are arranged from top to 
bottom. There are four box between C and H.  There are two box between H and A. There 
are three box between A and F. There are two box between F and B. There is only one box 
between B and D. The box D is not placed immediately above or immediately below the F. 
Two boxes placed between E and G. The box E is placed one of the place above box H but 
not on the top. 
 
Q14. Which of the following box is at the bottom?  
(a) G 
(b) B 
(c)  C 
(d) D 
(e) E 
 
Q15. Which of the following box is immediately above the D? 
(a) B 
(b) E 
(c) H 
(d) C 
(e) A 

 
 

Solutions 
Solutions (1-5): 
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Sol.  

 
S1.Ans(b) 
S2.Ans(d) 
S3.Ans(e) 
S4.Ans(e) 
S5.Ans(a) 
 
S6. Ans.(d) 
 
S7. Ans.(d) 
 
Solutions (8-10) 
Sol.  

 
S8. Ans.(d) 
S9. Ans.(c) 
S10. Ans.(a) 
 
Solutions (11-13) 
S11. Ans.(e) 
Sol. Any advertisement highlights only the desirable qualities of the product. So, I is 
implicit. The ‘X’ brand has advertised its product in newspaper A. This implies that a large 
section of people reads advertisements in newspapers and that news-paper A too has a 
side circulation. So, neither II nor III is implicit. 
 
S12. Ans.(c) 
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Sol. It is mentioned that the apples are so cheap that they cannot be good. This means that 
the prices of good apples are never too low and that very cheap apples are never good. So, 
neither I nor III is implicit. Assumption II clearly follows from the statement that apples are 
of inferior quality because they are cheap. So, it is implicit. 
  
S13. Ans.(a)  
Sol. An appeal has been made to ‘introduce’ written examination. This means that so far 
written examination was not conducted. So, I is implicit. II follows directly from the 
statement and so it is implicit. However, nothing can be deduced about the mode of 
selection at higher level. So, III is not implicit. 
 
Solutions (14-15): 
Sol.  

 
S14. Ans.(a) 
S15. Ans.(d) 
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